


Question 1 

Rewrite this absolute value inequality as a compound inequality 
 
 
A.   
 
B. 
 
C. 
 
D.  

3 4 15x 

15 3 4 15x  

15 3 4 15x   

15 3 4 15x   

15 3 4 15x   



Question 2 

Solve 3 − 𝑥 < 10 
  
A.  (−7, 7) 
 
B.  (−13,13) 
 
C.  (−7, 13) 
 
D.  (−13, 7) 
 
 



Question 3 

Solve 𝑥 − 5 ≥ 4 
 
𝑥 ≤ −1 or 𝑥 ≥ 1 
 
𝑥 ≤ −9 or 𝑥 ≥ 9 
 
𝑥 ≤ 9 or ≥ −1 
 
𝑥 ≤ 1 𝑜𝑟 𝑥 ≥ 9 
 



Question 4 

Solve |𝑥 + 3| < 10   
 
A. −13, 13  

 
B. (−7, 13) 

 
C. (−7, 7) 

 
D. (−13, 7) 
 

6
   



Question 5 

Solve 15 − 3 5𝑥 − 6 ≥ −9   
 
A. [−2.8, 0.4] 

 
B. [−2.8, 2.8] 

 
C. [−0.4, 0.4] 

 
D. [−0.4, 2.8] 
                      



Question 6 

Solve 2𝑥 + 4 + 4 < 8   
 
A. −4 < 𝑥 < 0 
 
B.   𝑥 < −4  or 𝑥 > 0 

  

C. −
5

2
< 𝑥 < 4 

 
D.    𝑥 < 0 
 
 
 
 
                      

  



Question 7 

Solve 2𝑥 + 2 < 9 
 

A. −
11

2
< 𝑥 <

7

2
 

 

B.    −9 < 𝑥 <
7

2
 

 

C.   −
7

2
< 𝑥 <

11

2
 

 

D.   𝑥 <
7

2
 

 



Question 8 

Solve 
𝑥−11

3
≤ 6.  

 
A. −7 ≥ 𝑥 𝑜𝑟 2 ≤ 𝑥 

 
B. −29 ≤ x ≤ 29 
 
C. −7 ≤ 𝑥 𝑜𝑟 29 ≤ 𝑥 

 
D. −7 ≤ 𝑥 ≤ 29 
 



Question 9 

Solve 3𝑥 + 2 − 3 > 1 
 

A. −2,
2

3
 

 

B.
2

3
, ∞  

 
C. ∅ 

 

D. (−∞, −2)  ∪
2

3
, ∞  

  



Question 10 

Solve 6 − 3𝑥 ≤ −12 
 
A. 
 
B. 
 
C. 
 
D. 
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